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Sl. No.1
QBID:1007001

Choose the correct sentence.

(1) Itis high time he will start earning
(2) It is high time he started earning

(3) It is high time he starts earning

(4) Itis high time he has started earning
Terferfiara © & %1 w1 a9 g sveq W R7

(1) 9% %

(2) 49,s,d

(3) &+, 5,4

4) 4,49 %

1[Option ID=1501]
2[Option ID=1502]
3[Option ID=1503]
4[Option ID=1504]

Sl. No.2
QBID:1007002

From among the four options given, choose the correct sequence of the four phrases given

below. to make a meaningful sentence :

(A) I am rediscovering
(B) On the rising COVID numbers
(C) Nervously. with one eve
(D)  The joy of travel. albeit
1) (D). (B), (4), (C)
(2) (C). (A) (B). (D)
(3) (B), (C), (D). (A)
(4) (A). (D). (C). (B)
S UL T A sS4 W e H i T st 8 39 o wed 87
(1) i =fy
(2) Y

(3)




EEER D
(4) T EM

1[Option ID=1505]
2[Option ID=1506]
3[Option ID=1507]
4[Option ID=1508]

Sl. No.3
QBID:1007003

Which of the following iz a one-word substitute for ‘a soldier who fights for the sake of
money’?

(1) Hireling
(2) Mercenary
(3) Assasin
(4) Hitman
Fferfiga & & form vee = fedi # ferm uftada =8 g’
(1) Hm
(2 =

(3) =FFA

(4) HHI

1[Option ID=1509]
2[Option ID=1510]
3[Option ID=1511]
4[Option ID=1512]

Sl. No.4
QBID:1007004

Identify the correct form of indirect speech of the following sentence.
The policeman said to us, “Where are you going?”

(1) The policeman asked us about our destination.

(2) The policeman requested where are you going.

(3) The policeman ordered us to go where he wanted.

(4) The policeman enquired where we were going.

79 | 3e¥d % [a9g H S %@ 9612, I HFad 6 7

(1) HEAW
(2) fasgm
(3) =
(4)  fea sy

1[Option ID=1513]
2[Option ID=1514]




3[Option ID=1515]
4[Option ID=1516]

Sl. No.5
QBID:1007005

In the sentence below a part 1s 1talicised. Which of the cholces as a replacement will improve
the zentence?

I hate as vou can sing so well and I can't.

(1) hate

(2) hate it that

(3) hate that

(4) hate 1t

Tferfias ameraren =1 w2 9 1wy

&) forek afifed 37260 %4 9=

(B) 3% aquH g sifus ufeg @

(C) =3 ai o 19l § Ted o =18 qorel

(D) g fordl 2, formd foma afse, fame

(E) 191 9t 10, el e+ TH=itd gaa forn

1 fau 7o fammeai 1 | | 39 #1994 Fifau
(1) (B). (C). (D), (A). (E)

(2) (D). (C). (B). (E). (A)
(3) (C), (E), (A). (D), (B)
4) (E), (D). (B), (A), (C)

1[Option ID=1517]
2[Option ID=1518]
3[Option ID=1519]
4[Option ID=1520]

Sl. No.6
QBID:1007006

From among the four options given. choose the preposition that will be the best fit for both
the blanks in the sentence given below :

When yvou bring home a pet. it soon becomes a member ————— the family and its loss 1s
as devastating as the death —————— any loved one.

(1) off

(2) in

(3) of

(4) with




f=fofiaa d ¥ g aw fafwa Fifsw -
(1) 98 |1 TH T Yahd T HeFd] 2|
(2) Tor=1 %1 64 e § T o |

(3)  fiw1 2 = gemEn & efgeh U Y |
(4) T & fuE %a 32|

1[Option ID=1521]
2[Option ID=1522]
3[Option ID=1523]
4[Option ID=1524]

Sl. No.7
QBID:1007007

Matech List T with List IT

ListI List IT
(word) (linked word)
(A) letters (I) time
(B) papers (II) printed
(C) ecards (III) friends
(D)  clock (IV) basket

Choose the correct answer from the options given below :
(1) (A)-ID), (B)-(D. (C)-(IV), (D)-(I1I)
(2) (A)-(IV). (B)-(ID). (C)-(I). (D)~(III)
(3) (A)-(IIT}, (B)-(IV). (C)-(IT). (D)-(T)
(4) (A)-(IV). (B)-(III). (C)-(I), (D)-(II)
(1) =cam
(2)  sengEal
(3) HvaH
(@) foid

1[Option ID=1525]
2[Option ID=1526]
3[Option ID=1527]
4[Option ID=1528]

Sl. No.8
QBID:1007008

Choose the correctly spelt word.
(1) Wharewhithal
(2) Wherewithal

(3) Wherewital




) Where whital

F 14 |1 9182 "H4el 1 yiaarH Fgi 27
(1) UEEF

(2) @

(3) ##fe

(a) wifd

1[Option ID=1529]
2[Option ID=1530]
3[Option ID=1531]
4[Option ID=1532]

Sl. No.9
QBID:1007009

Choose the correct option to make a meaningful sentence.

The paragraph should not ————— five hundred words.

(1) Accede
(2) Exceed
(3) Access

(4) Excess

= 1% Ay = 11 %1 Taers Sifs
ERIB g1
I faerm

(A)  ¥EA (I 9=

(B) frem (IT) ST

(C) Trv=TH (IIT) 3=

(D) =i (V) fa@

1= Tou o fammedl § | 9dl 39 % =9 Fifeu

(1) (A)-(I). (B)-(II). (C)-(III). (D)-(IV)
(2) (A)-(ID). (B)-(IV). (C)-(I). (D)-(I1T)
(3) (A)-(IIT). (B)-(ID). (C)-(IV). (D)-(I)

4) (A)-(IV), (B)-(III), (C)-(T), (D)-(IT)

1[Option ID=1533]
2[Option ID=1534]
3[Option ID=1535]
4[Option ID=1536]

Sl. No.10
QBID:1007010




Choose the correct passive voice form of the following sentence :

People are destroying large areas of forest every day.

(1) Large areas of forest was being deztroved every day.
(2) A large areas of forests were destroved every day by the people.
(3) Large areas of forest are being destroved every day.

(4) Every day people have destroved large areas of forest.
Fr=ferfiad § & geat ve=rfio -
(A)  THEnEEE
(B) A vem &y, 9 asnfl aigh
(C)  EehRl-aH1 L Sl
(D) i et sfie fasa
(B) o Soferai s 34 2

1t fou o famreai 4 & w8 39 %1977 Fifae
(1) (A). (C) 31 (D)
(2) (A). (B) 3l (E)
(3) (B). (O) 3k (D)
(4) (C), (D) 31 (E)

1[Option ID=1537]
2[Option ID=1538]
3[Option ID=1539]
4[Option ID=1540]

Sl. No.11
QBID:1007011

Former Indian ecricket captain Gundappa Ranganatha Vishwanath has penned his
autoblography titled —————— co-authored by senior journalist R Kaushik.

(1) Playing It My Way
(2) The Test of My Life

(3) Wrist Assured : An Autchiography
(4) 281 and Bevond

qd uidtE Tk Fum e Ty fGvaay 3 gecias 3t wEEn SR i % w1 s s
3k & ferdi:

(1) EEEEd

(2)




2 2952 HE °IE ¢EE
(3) Tree vE e ;g HideEml
(4) 281 vz fagz

1[Option ID=1541]
2[Option ID=1542]
3[Option ID=1543]
4[Option ID=1544]

Sl. No.12
QBID:1007012

Who has been elected as the new President of South Korea to replace incumhbent President
Moon Jae-in?

(1) Lee Jae-mung

(2) Ban ki-Maon

(3) Hong Joon-pyo
(4) Yoon Suk-yeol
TEE Tl U S-24 o U W EfE i 1 1 i e
(1) i S-9n
(2) A= -4
(3) EMSH-T=
(4) ZAgH-fasE

1[Option ID=1545]
2[Option ID=1546]
3[Option ID=1547]
4[Option ID=1548]

Sl. No.13
QBID:1007013

Who has become the first engineer to become the chief of army staff?

(1) Lieutenant General Manoj Pande

(2) Lieutenant General B.S. Raju

(3) Lieutenant General Mano] Mukund Narvane

(4) Commander-in-chief Upendra Dwivedi
2 Ugell $elllaT 14 2 51 geraarege 9417

(1) olffede See BT ave

(2) a2 el =1, 08, T

(3) elffere st 51 g )

(4) Fwie g =i 3 frad)




1[Option ID=1549]
2[Option ID=1550]
3[Option ID=1551]
4[Option ID=1552]

Sl. No.14
QBID:1007014

Who has won the 2022 Laureus Breakthrough of the Year prize?
(1) Valtentino Rossi
(2) Emma Raducanu
(3) Tom Brady
(4) Neeraj Chopra
A= syl 31T 2 St greshi 2022 foha- sfia?
(1) A i
(2) Wt
(3) Zwad
(4) e =EmE

1[Option ID=1553]
2[Option ID=1554]
3[Option ID=1555]
4[Option ID=1556]

Sl. No.15
QBID:1007015

Which of the following has launched the world's first index family focused exclusively on
tracking the price of carbon removal?

(1) NIFTY
(2) SENSEX

(3) NASDAQ
(4) NABARD

frpeferfiara d & foha aiela s=aa % qea &1 vl o & fo faem sa @ aftar #i=q fava &1 aaw ga
Y fFa?

(1) T
(2) HH7g
(3) aEEE
(4) Frars

1[Option ID=1557]
2[Option ID=1558]
3[Option ID=1559]
4[Option ID=1560]

Sl. No.16
QBID:1007016




Find the next number

19.31.45. 61,
1) 381
(2> 79
(3 90
(4) 84

fepfetfiara gaen 1 srefl wwean |

19, 31, 45,61,

1) 81
(2) 79
(3) 90
(a4) 84

1[Option ID=1561]
2[Option ID=1562]
3[Option ID=1563]
4[Option ID=1564]

Sl. No.17
QBID:1007017
If MONEEY 1s coded as OPNZFL, How will PIGEON be coded?

(1) REIGQP
(2) HIQFPM

(3) GJOPFR
(4) RKIPQG

7fz MONKEY %1 OPNZFL % 9 4 Feag f31 e 2, 91 PIGEON =1 4 F2ag fha1smomn?
(1) RKIGQP
(2) HJIQFPM
(3) GJOPFR
(4) RKIPQG

1[Option ID=1565]
2[Option ID=1566]
3[Option ID=1567]
4[Option ID=1568]

Sl. No.18
QBID:1007018

Choose the pair the best represents a similar relationship to the one expressed in the original
palr of words.

Cobbler : Shoe

(1)




Carpenter : Wood
(2) Maszon : Brick
(3) Contractor : Building

(4) Potter : Mud

fa=ferfiga wradl & get g § =i daa 6l SR G678 89 3 gEqd 4 91 3w F1 gH:

(1) @ed : dHhd)
(2) fued):da

(3) N AT
(4) FEE: F198

1[Option ID=1569]
2[Option ID=1570]
3[Option ID=1571]
4[Option ID=1572]

Sl. No.19
QBID:1007019

Sham left hiz home and walked 12 km towards South - East. Then he turned right and
walked another 8 Km. Again he turned right and ran for 15 Km. Then he turned 45° in
clockwise direction and continued walking. In which direction he 1s walking now with respect
to starting point.
(1) North-East
(2) North
(3) South
(4) North-West

vy S0 gt e sl afaor-ud faam 8 12 fdi wem e sz aifed ger siv g f6dl, oiw =) |z

atfed gz1 i 15 ol o dlen s ae o 3 wer 6 faon o 45° g =i semn sl v siw T g fig
1 der ¥ e fawn | =e w27

(1) FW-73
(2) I

(3) afam

(4) FH-1lgEH

1[Option ID=1573]
2[Option ID=1574]
3[Option ID=1575]
4[Option ID=1576]

Sl. No.20
QBID:1007020




Ram said to Ashok that the woman standing in front of him has a grand daughter who 1=
the only daughter of my brother. How is woman related to Ram?

(1) Aunt

(2) Mother

3) Wife

(4) Grand mother
T F 9 § Fel B 3Es wwd o wieen @l @ suh vk Ol @, 50t ar ) swerd 9 @) 38 afeen
W H &1 56y 27

(1) ==

(2) i

(3) Ui

(4) =M@l

1[Option ID=1577]
2[Option ID=1578]
3[Option ID=1579]
4[Option ID=1580]

Sl. No.21
QBID:1007021

A family consists of a mother. a father, and some children. The average age of the members of
the family 1s 20. the father 1s 48 vears old. and the average age of the mother and children 1s

16. How many children are in the family?

(1) 8
2) 7
3) 9
(4) 6

U aftam | us B, v U SR F9 a8 giEn & wdl veei i sied o1 20 2, fudn £ sy 48 ad g sl
i aut s i ofred 9 16 3 2| iEn d fa w87

(1) 8
2 7
3) 9
(4) 6

1[Option ID=1581]
2[Option ID=1582]
3[Option ID=1583]
4[Option ID=1584]

Sl. No.22
QBID:1007022




What is the value of K . for which one root of the quadratic equation Kx® —14x+8=0 is six
times the other?

1) 1
2 2
3) 3
4) 4

afe fgandia adim Ko —14x+ 8 =0 %1 U Vi S8 8 ©: 41 2 dl K o1 WH 91 27

(1) 1
(2) 2
3) 3
4) 4

1[Option ID=1585]
2[Option ID=1586]
3[Option ID=1587]
4[Option ID=1588]

Sl. No.23
QBID:1007023

A dealer sold a bicycle at a profit of 10%. Had he bought the bicycle at 10% less price and sold
it at a price ¥ 60 more, he would have gained 25%. The cost price of the bicycle was :

(1) 2,600
(2) ¥2.000
(3) ¥2.200
(4) ¥2.400

U Efer 4 U @R 10% oy 9 s=| 3fE 35 @Rl 10% #9909 1 w@id 2 338 T 60 3R s
Hed 9 S, d1 39 25% 1 A g1l | fEe 1 wE-yed e a1 -

1) %2600
2) 2,000
3 T2,200
@) *:2,400

1[Option ID=1589]
2[Option ID=1590]
3[Option ID=1591]
4[Option ID=1592]

Sl. No.24
QBID:1007024




In a business, "B’ is a sleeping partner and ‘A " is a working partner. * A invests ¥ 5,000 and
‘B’ investzs ¥ 6,000, ‘A" receives 12%% of profit for managing the business and the

remaining profit 1s divided in proportion to their capitals. A's share of profit in a total profit
of TREO 1s:

(1) T 350

(2) T 400

(3) T 420

(4) 460

U =FEE § B’ U ARy arfien @ 31 A v wEeie aefien 21 A0 T 5,000 1 FEw wE # s

‘B 6,000 1 [Ha91 #7121 s9aE@ F T4 YT o fou - A ey 12%% TTH el & #1909 &1y
31 s % srgra & aie famn s 21 9fs ger ey T 880 2l - Ao e e fne @ -

(1) ¥ 350
(2) T 400
3) 420
) T 460

1[Option ID=1593]
2[Option ID=1594]
3[Option ID=1595]
4[Option ID=1596]

Sl. No.25
QBID:1007025

A train 800 metres long iz running at a speed of 78 Km per hour. If it crosses a tunnel in
1 minute, then the length of the tunnel (in metres) 1s :

(1) 130
(2) 360
(3) 500
(4) 540

800 Hiex el v 24 78 o6 41, faer 1 =na @ = @1 2) fe 2z fe g o vs =z 0 an w2 d gw
g (dien d) e 27

(1) 130
(2) 360
(3) 500
(4) 540

1[Option ID=1597]




2[Option ID=1598]
3[Option ID=1599]
4[Option ID=1600]

Sl. No.26
QBID:1054001

Which of the following has the highest dipole moment?
(1) CO,

(2) NaCl

(3) NH,

(4) CCly

frferfiaa 4 4 fra 3wy gfa-ya smgol 27

(1) CO,

(2) NaCl

(3) NH,

(4) CCl,

1[Option ID=901]
2[Option ID=902]
3[Option ID=903]
4[Option ID=904]

Sl. No.27
QBID:1054002

Which of the following 1s produced when carbon 1s treated with concentrated sulfuric acid?

(1) Carbon sulfide
(2) Carbon monoxide
(3) Carhbon dioxide
(4) Carbon sulfate

Fefetfiad § | @ 3c0a 211 & o1 e Hild Horfeh s7eel % v AfH s 27
(1) FEHF geFEe

(2) e FHFIES

(3) FEA SEHATFAEE

(4) FTeH TR

1[Option ID=905]
2[Option ID=906]
3[Option ID=907]
4[Option ID=908]

Sl. No.28
QBID:1054003

Inert pair effect is related to the outermost electrons of ———— orbital
(1) d-orbital

(2) f-orbital

(3) s-orbital

(4) p-orbital

A3 7 T s & ATIdH ST | Hraiad 2




Q) g e
(2) fhids
(3) s-FElh

(4) p-hé+

1[Option ID=909]
2[Option ID=910]
3[Option ID=911]
4[Option ID=912]

Sl. No.29
QBID:1054004

Which of the complexes below is paramagnetic and contributes to the magnetic moment via
orbital contributions?

(1) [Mn(CN)f
2 [FelcN)F*

(3) [MnF,["

(@) [FelCN), "

frafafaa % & = w1 9few 59 wrgadE £ i Johm gt +1 Fefa JEam & grn o 8 7
(1) [Mn(CN); [~

2 [FelcN) "

(3) [MnF,["

(4) [FelCN), [~

1[Option ID=913]
2[Option ID=914]
3[Option ID=915]
4[Option ID=916]

Sl. No.30
QBID:1054005

The oxygen molecule is paramagnetic. Which of the following can explain it?

(1) Reszonance
(2) Hybridisation
(3) Valence band theory

(4) Molecular orbital theory

ST &1 3] e 21 FHefafaa 08 g9efl #1a Hi sanen 27
(1) 3

(2) HF|

(3) TATAEAl 71 fagE

(4) 3] Fefr g

1[Option ID=917]
2[Option ID=918]




3[Option ID=919]
4[Option ID=920]

Sl. No.31
QBID:1054006

Given below are two statements : One 1s labelled as Assertion A and the other ig labelled as

Reason R.

Assertion (A) : NH2 is a better nucelophile than NHz

Reasons (R) : Negatively charged nucleophiles are stronger than lone pair ones due to

high charge density

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) 1s correct but (R) 1s not correct

(4) (A) is not correct but (R) is correct

411 21w faumu 2 : v sifgeea (Assertion (A)) % ¥4 4 fafiad 2 @1 2871 36+ %10 (Reasons (R)) &

Y ;
SAfirFer (A) ; NH, NH, & s Aot 31
F0 (R) - v st il vl g 6 gern @ 3= SE 2 % FHE sfere garEere

(ware) B 21

TN o % STTee §, A1 feu e faewel § § He 3UgE 39T w1 99 it
(1) (A) 3 R) ZH1wd # 3 (R), (A) 1 o =En 2

(@) (&) ) 2 7 E, TR R), () A w7

@ @ A, A ) 2

(4) (A) =& 2, wfeFa (R) w9 2

1[Option ID=921]
2[Option ID=922]
3[Option ID=923]
4[Option ID=924]

Sl. No.32
QBID:1054007

The hybridisation present SF,is:
(1) d3sp?
(2) sp’d’®
(3) spd

(4) sp*d?




SF, 1 3ufesra wepor fafafaa o 4t m 27

(1) d?sp®

(2) sp’d?

(3) sp’d

(4) sp>d?

1[Option ID=925]
2[Option ID=926]
3[Option ID=927]
4[Option ID=928]

Sl. No.33

QBID:1054008
Match List I with List IT:

(4)
(B)
(C)
(D)

ListI List IT

CH,F (I) Trigonal Planar
HCHO (I) Tetrahedral

HCN (III) Trigonal pyramidal
NH, (IV) Linear

Choose the correct answer from the options given below :

(1) (A)-ID. (B)-(I). (C)-AV). (D)-IL)
(2) (A)-D). B)-ID). (C)-(III). (D)«(IV)
(3) (A)-(ID. (B)-(IV), (C)-(T). (D)-(I1T)
(4) (A)-IID), (B)-ID). (C)-(D). (D)-(IV)
g 1 st g I faerm ifsm)

(A)
(B)
(C)

(D)

HH1-1
CH,F
HCHO
HCN

NH,

=1 fou o fasredi 0§ w8l 3 = =194 i

(1) (A)-I). (B)-(D. (C)-IV). (D)-(IIL)
(2) (A)-I). (B)-(ID). (C)-(ID). (D)-(IV)
(3) (A)-aD). (B)-AV). (C)-(D). (D)-(ID)
(4) (A)-IID). (B)-(ID). (C)-(D). (D)-(IV)

1[Option ID=929]
2[Option ID=930]

H1-1T
(D Fremaae defia
(D) Fqo6erhi

(IID) Frvaae e
IV e




3[Option ID=931]
4[Option ID=932]

Sl. No.34
QBID:1054009

Which of the following quantum number accounts for the splitting up of spectral lines
(Zeeman Effect)

(1) Magnetic Quantum Number

(2) Principal Quantum Number

(3) Spin Quantum Number

(4) Azimuthal quantum Number

szt TErat (e ghee) & frama /frea & fou Gafafas § @ = @ s i swer g 27
(1) Fearehid H-2H 37

(2) Y& H=H HaE

(3) JHI] F-2H e

(4) Usfegue e i

1[Option ID=933]
2[Option ID=934]
3[Option ID=935]
4[Option ID=936]

Sl. No.35
QBID:1054010

If in a reaction. the entropy change 1s 2.4 cal/K and Gibhs free energy change in 3.4 keal,
what will be the change in heat at 20°C?

(1) 4.1 keal

(2) 4.1cal

(3) 4.1kJ

(4) 41J

afz fereft srfurfran o v ufidaq 2.4 Ferl /o 2 3 s geh el d uftada 3.4 fa % 2 & 20°C amaH
o 1§ B i g ?

(1) 4.1 ok el

(2) 4.1 Fer

(3) 4.1 feFell 9=

4) 4.15

1[Option ID=937]
2[Option ID=938]
3[Option ID=939]
4[Option ID=940]

Sl. No.36
QBID:1054011

The first law of thermodynamies is conservation of
(1) Energy

(2) Momentum

(3) Velocity




(4) Mass

FeANTerR 1 Teell fam s e S an d 27
(1) F

(2) Ha1

(3) an

(4) ==4HMH

1[Option ID=941]

2[Option ID=942]

3[Option ID=943]
4[Option ID=944]

Sl. No.37
QBID:1054012

According to the Maxwell's law of distribution of velocities of molecules. the most probable
veloecity is

(1) Less than the root mean square velocity
(2) Greater than the mean velocity
(3) Equal to the root mean square velocity

(4) Equal to the mean velocity

ST % 3 % e e e & fEm % o, aatte e an e
(1) a7 91Ea g 91 © Y

(2) e 9 8 Al

(3) a7 W% g 9 o IR

(4) HIEF 9 o ST

1[Option ID=945]
2[Option ID=946]
3[Option ID=947]
4[Option ID=948]

Sl. No.38
QBID:1054013

In a thermodynamic system, which of the following is an intensive property?
(1) Volume

(2) Temperature

(3) Mass

(4) Energy

eTiaes a1 4 fmfafiaa 34 25 | me o 27

(1) 37

(2) «m™HH

(3) ==H1H

4) i

1[Option ID=949]
2[Option ID=950]
3[Option ID=951]
4[Option ID=952]




Sl. No.39
QBID:1054014

When the molar concentration of the acid and its conjugate base are equal, which of the
following equations indicate that the pH of the solution is numerically equal to the pK of an
acid?

(1) Michaelis-Menten equation

(2) Haldanes equation

(3) Henderson-Hasselbalch equation

(4) Hardy-Windberg law

stal Tl s1vet 3iv ek Ayl e <l o S AiEdl 99 gid 2 d Fefalad 0 9 @F @ e i 2
fop forere <l pH Heamm= ®9 9 335 i pK % 99F &l ?

(1) Bz fora - 3927 T

(2) @i aiEm

(3) 2revHA-dHes AT

(@) =131 Taz=m f47H

1[Option ID=953]
2[Option ID=954]
3[Option ID=955]
4[Option ID=956]

Sl. No.40
QBID:1054015

The unit of rate constant for a first order reaction is
(1) st

(2) molL's™?

(3) molLs™

(4) molL™*

vy =ife =i sfafsen = for 21 Frmai =1 e 70 27
(1) s*

(2) molLs™
(3) mol™Ls™

(4) molL™?

1[Option ID=957]
2[Option ID=958]
3[Option ID=959]
4[Option ID=960]

Sl. No.41
QBID:1054016

Most Bravais lattices are of the type
(1) Primitive unit cell

(2) Beody centered unit cell

(3) End centered unit cell

(4) Face centered unit cell




Ze

ARy 34 strerer fefefiaa 03 B v & 2k 27

(1) 35 3HE Hel

(2) 3d: Fi=d g ¥
(3) 3fcq Kf=Zd s O
(4) "IV f=a 3 T

1[Option ID=961]
2[Option ID=962]
3[Option ID=963]
4[Option ID=964]

Sl. No.42
QBID:1054017

When a liquid is heated but its state remains unchanged. its molecules gain
(1) Kinetic energy

(2) Potential energy

(3) Vibrational energy

(4) Both (A) and (B)

= et g3 =i T o S & S Sut srEen # i ufiEda Ad g, @ Sa et 6
H 3iz &l &

(1) rfest s

(2) fearfost s

(3) FH Hdl

(4) (A) =R (B) =M

1[Option ID=965]
2[Option ID=966]
3[Option ID=967]
4[Option ID=968]

Sl. No.43
QBID:1054018

For optical device application, the energy band gap of a semiconductor should be
(1) Indirect band gap

(2) Direct band gap

(3) Negative band gap

(4) Any one of the above

I ik WoeiehyE Sy o foro forl svefemersn o1 Sl S si=mel fe @ e
(1) FHIEH 42 R

(2) UH sig HAE

(3) FAFWIEHF A H-lel

(4) 3ufcifgd & & #IE uF

1[Option ID=969]
2[Option ID=970]




3[Option ID=971]
4[Option ID=972]

Sl. No.44
QBID:1054019

The process of emission of electrons from the hot metal surfaces is called

(1) Plastic emission

(2) Thermionic emission

(3) Static emission

(4) Current emission

ez 1 TH ST % 98§ Sewe w1 Wikl i 1 FEd 8 7
(1) verfes ey

(2) SHI A F Fedrstq (ATeHA)

(3) iR Fes

(4) I 3l

1[Option ID=973]
2[Option ID=974]
3[Option ID=975]
4[Option ID=976]

Sl. No.45
QBID:1054020

The combined form of first and second law of thermodynamics is given by
(1) TdS = dU + PdV

(2) d@ = TdS + PdV

(3) dU = TdS + d@

(4) TdS =dU - PdV

Tl SR gat FepTlas e  He s frofefaa O e e 27
(1) TdS = dU + PdV

(2) d@ =TdS + PdV

3) dU =TdS +d@

(4) TdS =dU - PdV

1[Option ID=977]
2[Option ID=978]
3[Option ID=979]
4[Option ID=980]

Sl. No.46
QBID:1054021

If current flows due to breakage of crystal bonds In a pure semiconductor crystal then what is
the semiconductor called?

(1) Donor
(2) Extrinsic semiconductor

(3) Intrinsic semiconductor

(4) Acceptor




a2 7z e ¥ e i ¥ 723 A Fr uw w2 A s # o w6
(1) =

(2) el AHETF

(3) SATTER ST

L)

(4) el

1[Option ID=981]
2[Option ID=982]
3[Option ID=983]
4[Option ID=984]

Sl. No.47
QBID:1054022

In p-type Ge semiconductor, the majority charge carriers are
(1) Ions

(2) Electrons

(3) Holes

(4) Conduction electrons

fodlt p-2sT Ge stH=Ters #, agHEaS A= aEF 4 B 8
(1) #HMEH

(2) sEwA

(3) =rd

(4) =T el

1[Option ID=985]
2[Option ID=986]
3[Option ID=987]
4[Option ID=988]

Sl. No.48
QBID:1054023

Hysteresis loop for soft and hard magnetic materials are. respectively
(1) Large. small

(2) Small. large

(3) Both small

(4) Both large

Ao aror (Temetfim =) & fou 93 ot Fer g o w2
(1) =1, B
(2) @Iz, qel

(3) =HiBe
(4) =i

1[Option ID=989]
2[Option ID=990]
3[Option ID=991]
4[Option ID=992]

Sl. No.49




QBID:1054024
The diode 1s used in

(1) Digital circuits
(2) Detectors

(3) Rectifiers
(4) All of the above

UF W A% AT AGTAF | A 4% AN TRl 5% & = 1 TEHEY 4T GO 26T 2 7
(1) 37 ufmy (fefeea afde)

(2) “qFF

(3) fawardl

(4) Ik Gl

1[Option ID=993]
2[Option ID=994]
3[Option ID=995]
4[Option ID=996]

Sl. No.50
QBID:1054025

For which of the following planes in a body centered cubic (BCC) lattice there is no Bragg
reflection?

(1) (110)
(2) (221)
(3) (220
(4) (211)
et = =wfza = (sh .. e % Ton fefefaa & @ fFa o faeae =0 s s =@ ey
(1) (110)
(2) (221)
(3) (220
(4) (211)

1[Option ID=997]
2[Option ID=998]
3[Option ID=999]
4[Option ID=1000]

Sl. No.51
QBID:1054026

A semiconductor 1s formed by ——————— bonds
(1) Covalent
(2) Electrovalent

(3) Co-ordinate
(4) None of the above
HAUITAF F9d1 2 a4 A

(1) HEHITF




@ A
(3) ITHEHATIS

(4) IHIF 1 F6
1[Option ID=1001]
2[Option ID=1002]

3[Option ID=1003]
4[Option ID=1004]

Sl. No.52
QBID:1054027

The energy gap between the valence band and conduction band in a semiconductor, is about
(1) 5eV

(2) 10eV

(3) 15eV

(4) 1eV

AAATAS o A1 3S HR AT oI o o= 1 Foll HRTA T 2l
(1) 5eV

(2) 10eV

(3) 15eV

(4) 1eV

1[Option ID=1005]
2[Option ID=1006]
3[Option ID=1007]
4[Option ID=1008]

Sl. No.53
QBID:1054028

In an indirect bandgap semiconductor, a transition between conduction band and valence
band results in

(1) Heat

(2) Light

(3) Both

(4) None of these

U e s M1 s U JeE g i g o9 % =i % g aftom a2
(1) =4I

(2) H&HEl

(3) I T SR T

(4) =I5 i

1[Option ID=1009]
2[Option ID=1010]
3[Option ID=1011]
4[Option ID=1012]

Sl. No.54
QBID:1054029

Which of the following statements is true about Hall coefficient of a material?

(1) It can be negative




(2) Tt cannot be negative

(3) It has value equal to zero for some material

(4) It can be a complex number for some material

fepefi wraned o et qponien o weareg § fforfiad § & o4 @1 %ue 5 7
(1) % e & Hehell 2

(2) 42 FHMeHF e &1 FeFl 2|

(3) F® TZ141 o Tou S5 U I F S0 e 2

(4) @ Tardi % ol 7= vek wivy w2 a2

1[Option ID=1013]
2[Option ID=1014]
3[Option ID=1015]
4[Option ID=1016]

Sl. No.55
QBID:1054030

Which is the only event to prove that light is a transverse wave?
(1) Scattering of light

(2) Interference

(3) Diffraction

(4) Polarization

fraferfam & & =7 @t © ge warf wd @ % v sgwe @ 27
(1) YT g

(2) wFeREm

(3) A&

(4) %
1[Option ID=1017]
2[Option ID=1018]

3[Option ID=1019]
4[Option ID=1020]

Sl. No.56
QBID:1054031

Fermi-Dirac statistics is applicable for which of the following particles
(1) Particles with half integral spin

(2) Symmetrical Particles

(3) Particles with integral spin

(4) Distinguishable particles

frfafan & & = & Fon = 5 fere Fifesh an 26 27

(1) H HHTFHA G el F91

(2) Hufgd =

(3) HHFA THHI dled F0l

(4) Tauga=u




1[Option ID=1021]
2[Option ID=1022]
3[Option ID=1023]
4[Option ID=1024]

Sl. No.57
QBID:1054032

Given below are two statements :

Statement I : In p-type semiconductor. the position of the Fermi level is closer to the

valence band

Statement IT : In n-type semiconductor, the Fermi level is present just below the

conduction band

In the light of the above statements. choose the most appropriate answer from the options

ziven below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement IT is incorrect

(4) Statement I is incorrect but Statement IT is correct

= g we By §

FA1:  pUER % Ad=TeER § B cae w1 T4 TRl g8 % Feee g 8

Faq [[: n-UFH 5 A9 § BH oide 9 49 & i A B 8l

I A F A 4, A B T fawedi § | wEl 39 0 =9 i

(1) %A I 3T I EHi aeg &

(2) oA [ 30 15 38 &

(3) #9d THe 2, cifehd shed T1 3769 2
(4) %o [ 576 2, ol 94 [T 54 2
1[Option ID=1025]

2[Option ID=1026]

3[Option ID=1027]
4[Option ID=1028]

Sl. No.58
QBID:1054033

The state of thermodynamic equilibrium in a system undergoing lsothermal and isobaric
transformation iz given by

(1) Minimum Gibbs Energy
(2) Maximum Gibbs Energy
(3) Minimum pressure
(4) Maximum pressure

P

ATl SR FRE SN | qer-are o gonef § smier wger 1 saen e gm s 2 -




(1) =y firse i
(2) slersray firss
(3) AdH <

(4) sl "
1[Option ID=1029]
2[Option ID=1030]

3[Option ID=1031]
4[Option ID=1032]

Sl. No.59
QBID:1054034

The greater the value of refractive index of a medium, the bending of light will be
(1) Greater

(2) Smaller

(3) Zero

(4) Negative

el e o sueaTe 19 faan sifoss g v = e fefofiaa 9 3w @m?

(1) Fed

(2) “THH

(3) I~

(4) FOTEHF

1[Option ID=1033]
2[Option ID=1034]
3[Option ID=1035]
4[Option ID=1036]

Sl. No.60
QBID:1054035

What is the de Broglie wavelength for a proton (m =1.67 10 “ kg ) moving at a speed of

6.0 10 " m/s?

(1) 2.0x10""m

(2) o033=10"m
(3) 1.3x10"m
(4) 068 <10 " m

HE W (m = 1.67 10" FRA) M 6.0x10° H./HFs hit 9 F 99 W §, 396 A€ G AT @
2= T B ?

(1) zox1o “
(2) o0.33 <10 ™ H.
(3) 1.2x10 7",

(4)  o0.66 10 "L

1[Option ID=1037]
2[Option ID=1038]
3[Option ID=1039]
4[Option ID=1040]

Sl. No.61




QBID:1054036
Dielectrics are the substances which are

(1) Conductors

(2) Semi-conductors
(3) Insulators

(4) None of these
TEga verd fae Ea # -
(1) el

(2) =T

(3) FHETH

(4) 240 18 FE

1[Option ID=1041]
2[Option ID=1042]
3[Option ID=1043]
4[Option ID=1044]

Sl. No.62
QBID:1054037

In any atom. the potential energy of an orbiting electron is

(1) Always positive

(2) Always negative

(3) Sometimes positive Sometimes negative

(4) Numerically less than its kinetic energy

ferell remroy o) e hef geraei ol ferfas el Prerferfiaa § @ #n e ?
(1) @ FATH®

(2) H=d FHIMHF

(3) =] =TT FH]

(4) THF A Sl HTeHF B9 ° FY

1[Option ID=1045]
2[Option ID=1046]
3[Option ID=1047]
4[Option ID=1048]

Sl. No.63
QBID:1054038

The entropy will generally enhance when

(T) a molecule is broken down into two or more smaller molecules
(II) a reaction leads to an increase in the number of moles of gas
(III) a solid converts to liguid

(IV)  aliquid converts to a gas

Choose the correct answer from the options given below :

(1)




IT only
(2) III only
(3) IVonly
(4) L IIIII and IV

AT : Ui s o —

(D o 5] S A1 A sfen B2 s | wied g )
(I) =1 srfafeen T\ % amsmpsi 6 e = aerd 2|
(I) 34 1 atel | afeady

(IV) vt =1 i | giEd

11 fau o faeredi 4 | @l 3 1= Fifeu
(1) Fae (ID)

(2) Fad (IID)

(3) Fad (IV)

(4) (D). (D). (II) 31 AV)

1[Option ID=1049]
2[Option ID=1050]
3[Option ID=1051]
4[Option ID=1052]

Sl. No.64
QBID:1054039

Generally, for semi conducting materials, if the size of the particles decreases from 10 nm, the
energy band gap will

(1) Increase

(2) Decrease
(3) Remain the same

(4) None of these

A, SAUTEE YETdT & felu, J7E &7 &1 AR 10 nm 4 &9 241 &, dl S9] 98 Heqie
(1) &

(2) =&

(3) Fufafda Tam

(4) A9 9 F15 3

1[Option ID=1053]
2[Option ID=1054]
3[Option ID=1055]
4[Option ID=1056]

Sl. No.65
QBID:1054040

What can a p-n junction diode be used as?




(1) Condenser

(2) Regulator

(3) Amplifier

(4) Rectifier

ue i-U= HAIH SR & foh = 1 30 1 Hehd 27
(1) HE1i

(2) s
(3) yaHH

(4) Taord

1[Option ID=1057]
2[Option ID=1058]
3[Option ID=1059]
4[Option ID=1060]

Sl. No.66
QBID:1054041

The density of free electron states in a metal
(1) Variesas E 7

(2) Variesas E

(3) Varies as E*

(4) Varlesas 1/E

Terafi a1 1 Yk SelagM SER1sTl %1 94ed
(1) E 7% wura ufafda g 2

(2) E % quH aftafdd 2 2

(3) E# % wur ufeafda gran 2

(4) 1/E % wam ufcafda g 2

1[Option ID=1061]
2[Option ID=1062]
3[Option ID=1063]
4[Option ID=1064]

Sl. No.67
QBID:1054042

Which of the following type of fissions denote breaking of a covalent bond in such a way that
every atom separates with one electron of a shared pair?

(1) Morpholytic fission

(2) Heterolytic fission

(3) Monolytic fission

(4) Homolytic fission

frafafaa & @ fow yon &1 g geaaies 999 & 24 # 3@ &0 g 2 F oues e i
eI TS I H S JUE B o 87

(1) wigifetfes famreq

@) Zeifeafes faee




(3) wrHifetes foraer
(4) Emifeizs e

1[Option ID=1065]
2[Option ID=1066]
3[Option ID=1067]
4[Option ID=1068]

Sl. No.68
QBID:1054043

Given below are two statements :

Statement [ :  Carbanion is an anion in which carbon is trivalent and bhears a formal

negative charge.

Statement II :  Carbanions are sp * hybridised

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement II is correct

Ji= g we Bu o §

FA1: FE-FUEA T UH FOA & o w0 G R e u sivies Tonens emEm 9nm

AT Bl

FgA Il  FE-FUE 5 0 HEOA 2
I FYE % A H, G4 B 70 el § | 5El 39 % 999 it

(1) oA [ 3 15 a7 &
(2) &9 I 3i1T I1 i 39 2
(3) F9A [ 2, el oy 11 310 2
(4) &9 [ 39 2, cifehd e 11 9ed 2

1[Option ID=1069]
2[Option ID=1070]
3[Option ID=1071]
4[Option ID=1072]

Sl. No.69
QBID:1054044

How many isomers of dibromobenzene exist?
1) 2
(2) 3
3) 4
(4) 6




SRS & o Taragd] faema 27
(1 2
(2) 3
(3) 4

(4) 6

1[Option ID=1073]
2[Option ID=1074]
3[Option ID=1075]
4[Option ID=1076]

Sl. No.70
QBID:1054045

The hybridisation of carbocation is

(1) sp

(2) sp”

(3) sp°

(4) sp’d

FTall T3 1 HF] 2 t
(1) sp

(2) sp”

(3) sp°

(4) sp’d

1[Option ID=1077]
2[Option ID=1078]
3[Option ID=1079]
4[Option ID=1080]

Sl. No.71
QBID:1054046

Larger the number of hyper conjugation structures. the stability of free radicals will
(1) Decrease

(2) Increase

(3) Remain the same

(4) None of the above

afg sifeegre s 6 ge wfiw 8 |9 g gerel 1 s I
(1) &

(2) =

(3) HHM &M

(4) I9TF 1S &

1[Option ID=1081]
2[Option ID=1082]
3[Option ID=1083]
4[Option ID=1084]

Sl. No.72




QBID:1054047
Which of the following statements 1s true regarding alkyl halide?

(1) Alkyl halide will always exhibit SN1 mechanism

(2) E1l mechanism is preferred over SN1 mechanism when branching at carbon increases
(3) E1 reaction is always preferred in comparison at SN1 reaction

(4) Temperature increase do not favor E1 mechanism in unimolecular reactions

freyfafiaa 1 A vewrga 2emge § Hafiad gea w949 #i v

(1) UFHIEH 2elge U9 SN1 Ufsn zmid 2

(2) 5 e Y el @ 1 E1 afaran 3 SN1 Wi § sifas iy ferwd 2

(3) E1 stfafaan =1 eien SN1 sifufsrn & gerreret sifires mafirsman frerdi 2

(4) e 7T A, UEfvas stuimaet § E1 uGEaT #1 686 1@ e

1[Option ID=1085]
2[Option ID=1086]
3[Option ID=1087]
4[Option ID=1088]

Sl. No.73
QBID:1054048

Which among the following does not show geometric isomerism?
(1) 1-hexene
(2) 2-hexene
(3) 3-hexene

(4) 4-hexene

freferfian 4 & =i snafada aueEE=a 16 g6t ?
(1) 1-gRH

(2) 2-2FdiA

(3) 3-TFdH

(4) 4-TF

1[Option ID=1089]
2[Option ID=1090]
3[Option ID=1091]
4[Option ID=1092]

Sl. No.74
QBID:1054049

Which of the following is the correct definition of chirality?

(1) A molecule having a mirror image

(2) The ability of an object to be superimposed on its mirror image
(3) The inability of an object to be superimposed on its mirror Image
(4) A molecule with four different substituents on the carbon atom
frferfiaa 5 4 vt &1 | aivam w4 = 27

(1) uF 3] Foreert 29 gfafds 21
2




Tt a2 <) 319 advr wfafers g sreamifia &9 6 eaan)
(3) T e 1 s gior ufafm W sreadifie 2 =i el
(4) TF o] Fomh 9w srem wioemdt Fee e W )

1[Option ID=1093]
2[Option ID=1094]
3[Option ID=1095]
4[Option ID=1096]

Sl. No.75
QBID:1054050

Given below are two statements : One 1z labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A):  Pyrrole has aromatic character.

Reaszons (R) : The lone pair of electrons on nitrogen is delocalised and thus satisfies

Huckel's rule.

In the light of the above statements, choose the most appropriate answer from the options

given below :
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (4)

(3) (A)1s correct but (R) is not correct

(4) (A) is not correct but (R) is correct

EIERARCC I A (- AP ol R o (Assertion (A)) % &9 H fafigd 2 Lan 3T FH0 (Reasons (R))

AgFIE (A) PRI 1 9 WElEE (TTE) B

FW (R) : T2 T UFE T ToFZ SETd B9 2, S 38 WE Fhe & (99 &1 TegE #d

=

Bl

I FYE & AT 8, A 7 T fawedt § @ g9d 30 3T 6 =ad Fife

(1) Q) 3 R) ZHTwE 2 3 R), (&) 1 a9 e 2

(2) (A) 3 (R) 21 5981 3, SfFA (R), (A) 1 7 s 74 2
(3) (A) |2, elfFd (R) well 4 2

(4) (A) =& 8 2, o (R) |1 2

1[Option ID=1097]
2[Option ID=1098]
3[Option ID=1099]
4[Option ID=1100]

Sl. No.76
QBID:1054051




DNA replication takes place in

(1) G1 phase

(2) G2 phase

(3) S phase

(4) Prophase

vy, ufiedia (ffeesrm ) afeqd dia e -
(1) G1 s (1)

(2) G2 (3Fa%n)

(3) S ()

(4) HThs

1[Option ID=1101]
2[Option ID=1102]
3[Option ID=1103]
4[Option ID=1104]

Sl. No.77
QBID:1054052

In Osmosis, movement of —————— occurs through the semi-permeable membrane
(1) Solvent

(2) Solute

(3) Protein molecules

(4) Phosphilipid molecules

T o B S T o oed B 2
(1) faermas
(2) faera

(3) WiFH
(4) wiEifeafire sm

1[Option ID=1105]
2[Option ID=1106]
3[Option ID=1107]
4[Option ID=1108]

Sl. No.78
QBID:1054053

Which of the following hormones is polypeptide?
(1) Estrogen

(2) Insulin

(3) Androgen

(4) Epinephrine

Tt 04 %1 o1 21iF iefiieEe 27

(1) FEEH

(2) it




) urgrsH
(4) wfHEH

1[Option ID=1109]
2[Option ID=1110]
3[Option ID=1111]
4[Option ID=1112]

Sl. No.79
QBID:1054054

Which one of the following interaction plays a major role in stabilizing B-DNA?
(1) Hydrogen bond

(2) Hydrophobic interaction

(3) Vander Waal's interaction

(4) Ionic interaction

=

-2 uA.u, % feordfiam 4 qre i Hefafaa 0 3 58 =9 =0 e i 27
(1) TEEEE AEY (F7E)

(2) FeAiE F=A faF

(3) arEtard 1 =i T

(4) S5 ST TR

1[Option ID=1113]
2[Option ID=1114]
3[Option ID=1115]
4[Option ID=1116]

Sl. No.80
QBID:1054055

The spectroscopic method for detection of functional groups 1s
(1) CD spectroscopy

(2) FTIR spectroscopy

(3) EBR spectroscopy

(4) UV-VISIBLE spectroscopy

(1) .2, waefud

(2) UF . 3. . v

(3) 2.UH. 3R, Tzl

(4) e -gva wEfue)

1[Option ID=1117]
2[Option ID=1118]
3[Option ID=1119]
4[Option ID=1120]

Sl. No.81
QBID:1054056

The fungus associated with human oral and vaginal infection is

(1) Fusarium

(2) Aspergillus




(3) Candida

(4) Pneumocytes

WAl U g - 3R AT -] S § Hesld deeh ol e o ¢
(1) ®yafem

(2) vesfuerE

(3) Ffza

(4) =HRTEZH

1[Option ID=1121]
2[Option ID=1122]
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In gram, staining, safranin is used as
(1) Primary stain
(2) Counter stain
(3) Decolorizer
(4) Tertiary stain
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Which of the following is a set of bacterial diseases?
(1) Malaria, poliomyelitis, mumps

(2) Mumps, cholera, typhoid

(3) Plague. Leprosy, Diphtheria

(4) Measles. tuberculosis, Tetanus
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An allele is

(1) Another word for a gene

(2) A homozygous genotype

(3) A heterozygous genotype

(4) Alternative form of a gene
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Taking up of extra cellular DNA molecules by the recipient organism is termed as
(1) Transformation

(2) Translation

(3) Transduction

(4) Transcription
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Which type of restriction enzyme 1s used 1n rDINA technology?
(1) Typel

(2) Typell

(3) TypelIll

(4) Type IV
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Reverses transcription PCR uses which of the following templates?
(1) RNA as a template to form DNA

(2) mENA as a template to form cDNA

(3) DNA as a template to form ssDNA

(4) sDNA as a template to form RNA
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In SDS-PAGE. protein sample 1s first

Reduced and then treated with amnionic detergent. and finally fractionated by

) electrophoresis

Oxidized and then treated with anilonic detergent and finally fractionated by

2) electrophoresis

Reduced and then treated with cationic detergent and finally fractionated by

() electrophoresis

Oxidized and then treated with cationic detergent and finally fractionated by

(4) electrophoresis
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Which of the following pyramids is always upright?
(1) Pyramid of number

(2) Pyramid of Biomass

(3) Pyramid of energy

(4) Age structure
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Amino acids having aromatic side chain are

(1) Tryptophan, glutamine, tyrosine

(2) Tryptophan, threonine, glutamine

(3) Phenylalanine. proline, serine

(4) Phenylalanine, tryptophan, tyrosine
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Where are chaperone proteins formed?

(1) Vesicles

(2) Lysosomes




(3) Golgl complex

(4) Endoplasmic Reticulum
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The a-helix and B-pleated sheet structure of protein molecule represents
(1) Conjugated protein structure

(2) Secondary protein structure

(3) Quaternary protein structure

(4) Tertiary protein structure
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Gaseous exchange happens in which part of the respiratory system?
(1) Alveol

(2) Larynx

(3) Pharynx

(4) Trachea
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Which of the following glands is not an endocrine gland?
(1) Adrenal
(2) Pituitary
(3) Lacrimal
(4) Thyroid
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Synthesis of phospholipids takes place in
(1) Mitochondria

(2) Cytoplasm

(3) Chloroplast

(4) Smooth Endoplasmic Reticulum
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In gene therapy, the defects in genes are cured in a child or in

(1) Adult
(2) Teenage
(3) 0ld

(4) Embryonic
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Which of the following gases 1s most potent greenhouse gas
(1) NO,

(2) CFC

(3) CO,

(4) CH,
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Self-repairing mechanism is applicable to which of the following biomolecules?
(1) DNA and RNA
(2) DNA and protein
(3) DNA
(4) RNA and protein
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B-cells and T-cells are different with respect to:

(1) Expression of different type of antigen receptor
(2) Origin and expression of different type of antigen receptor
(3) Life span

(4) Origin and life span
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Cosmids lack which of the following?

(1) Genes coding for viral proteins

(2) Origin of replication

(3) Marker genes coding for replication

(4) Cleavage site for the insertion of foreign DNA
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